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1| FE U i S Sk SR R 2000m T =8 TH6H 5] 16.0 0.5 5.0 30.7 L 0.7 < <
T 15.0 31.3 18 3.6 <1 <1
o ka1 R Bt | o0 | ogen | m | 2.2 0.5 g 28.9 ! 0.8 a a
T 1.2 30.0 2 0.9 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 TH9H = 19.0 0.5 3.8 28.2 2 L6 < <
T 18.0 31.8 6 1.5 <1 <1
4 59 1000m e 3T f’é TH9H = 8.0 (7)‘2 4.5 ;3‘2 ; H : :
TR TSR E3E 0' 5 26. 1 1 0' 7 <1 <1

5 K H 59 1000m e 3T = TH9H = 11.0 : 3.6 : :
T 10. 0 29.0 2 0.7 <1 <1
6 /NI 1000m e 3T =8 TH10H = 11.3 0.5 4.0 25.7 2 0.9 <l <l
T 10.3 27.6 2 0.9 <1 <1
7 FH )1 1HK92000m s 3T f’é TH10H i 15.3 12‘2 6.2 ;3? <; g‘g : :
TR R AR E3E 0' 5 31. 7 2 0' 9 <1 <1

8 REJI 7K 1000m et 3T = THI11H = 11.8 : 4.8 : :
T 10.8 32.3 2 0.7 <1 <1
9 ) 1400 1000m o 3T E g | o= | os 0.5 44 311 2 L8 a a
T 8.8 31.9 4 1.8 <1 <1
0 T b e K1 1000m o 3T B N ppa| o2 | oes 0.5 455 80.2 2 0.9 a a
T 8.3 32.1 6 2.0 <1 <1
11|78 51137 11 i 1000m o7 BE D ogen | o2 | oo 058 4 g 314 2 0.9 a a
T 8.2 32.4 7 2.4 <1 <1
12| A3 11 it 1000m o7 B ogen| o= | os 0.50 5 31.6 S 0.5 a a
T 8.8 31.8 3 1.0 <1 <1
13|V o & T S B HN M9 1500m 3T =8 TH13H = 17.0 0.5 5.2 311 < 0.6 < <
T 16. 0 33.0 3 1.2 <1 <1
14[/N 4k VG BGR55 200 ALKI400 m A 3T L TA13H = 15.8 0.5 2.1 18. 4 4 2.0 < <
T 14.8 30.9 1 0.8 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 TH13H i 17.5 0.5 4.2 28.0 2 0.9 < <
TE 16.5 30.9 2 0.7 <1 <1
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1 [AR R b 2 Sk SR AP TP 2000m T 7H6H 5] 16.0 5 75. 4 b <10 <10 -
2|42 1 vk TRSEHE K X 15 ST 7H6H 5] 2.2 5 68. 6|HY « > b b <10 13 13
3| FE X e Mk BB )1 #92000mf 3T TH9H & 19.0 7 66. 7|HY « > v b <10 77 77
4 R ) 1000m et 3T TH9H = 8.0 5 74. 4 T <10 38 38
5 FRNT T S ) 1000m et 3T TH9H = 11.0 5 74.6 b <10 11 11
6 /N 1000m s 3T THI10H & 11.3 5 72.7 b <10 20 20
7 N 75 7)1 #92000m et 3T 7TH10H i 15.3 5 73.7 T <10 87 87
8 PR PR REJI 9 1000m e 3T THI1H & 11.8 5 74. 4 b <10 97 97
9 & )1 P 1000m s 3T THI1H & 9.8 5 70.5 b 24 270 294
10| HaBERT Hh S5 bk AFN#91000mf 3T 7H12H e 9.3 6 74.0 b 14 150 164
113 5 TRAT F i # 1000m A+ 3T THI12H & .2 5 72. 4 b <10 62 62
12| RAT 1 759 1000m {3 7H12H = .8 5 74.9 b <10 32 32
13|\ o & T Ml S I B I 139 1500m s 3T 7H13H e 17.0 5 74.5 b <10 18 18
14|/ 4 ek PaRE R 52D AL#9400 m 3T 7H13H = 15.8 10 48.8] b 21 280 301
15| B VR 1 [ )1 49 1000mf 3T 7H13H i 17.5 5 71.6 b <10 38 38
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